Year 2 Maths Home Learning 04.11.2022

This week we have been adding three 1 digit numbers and using our knowledge of number bonds to 10. We have really

impressed Mrs Andrews!

(X
1+9 2+8 3+7 4+6

€ Fay is working out 9 + 4 + 1

Add three 1-digit numbers

Here are her workings. 9+1=10 10

10+ 4 =14 Y o

sfeel:

545 6+4 7+3 8+2 A9+l

@ What addition is shown?

Fay's workings are
wrong because she did them
in the wrong order

Do you agree with Tiny?

Explain your answer.

o Complete the additions.
Tick the addition in each pair that has the

6+7+3=
o Complete the additions. greqter answer.
6+3+7= a) 7+5+3= d) 3+9+7= a)
5+9+1 7+6+3

7+3+6= b) 8+9+1= e) 5+5+5=
Which was the easiest? @ b)

. ) 6+6+4= f) 2+9+8=
Talk about it with a partner.

<)

1+7+3

5+2+3




